szt (&

ERE E :

AEBEELEED  HAEESERE - LERHORRNER - REBHORKRBRE
TARBNSH - FI0 - S/RE S - WRMESERERBEEE - HIHIRHEE
FECHMARBEIRE ; WWRBRELEREER  SBABRIREE ST | BHEE
T —1  BBERABBRETABDRIELD S " #IEN, -

3.2.1 N RIETES

AT EERFARKEIME  BFIAEEIMSH EE NKF—3—

FIRNET - BIBRIALLEREFE R ERERN c BXRFTHNBBETEE 0 &

ZBE - LHFEBHRRNIBR  BUORKRBREANITAENRERNG A AR

R INEIT o

Python 2 Hlen S D A M ALE :
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Fif---, AEBOHEIR 2 if IBSPRESHIEIRE  BEA
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/ U I M 2EHRZEER  FI00: "x>2, ; o M2EEEZ N > FI90: "x>2
or x<5, ' WREXABRIE RN BIUSEMIIEHR—7I » BER
B :

it R - 2R
MR 28 [ URRZERIERZES
BI—%IE50

True

Y EIlE R

False

«

A

B—IEN

EEGIEE - EEESENA FIER

INRERET S —([@@BREBIBVIET  SHZ BB NALEERIF I EZE N WREA
BOBISIETE (1234) @ R/ TEUDNER | 4 WRBANRIKIER  8IFAZ
RETEIENE o (<passwordl.py>)

I #2 X #%5 : chO3\passwordl.py ‘
1 pw = input("FEMAEE")
2 1T pw=="1234":

3 print(" REBEE! ™)
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ED MEUMCER | 4 BILR ; B ABVEBIHIERAAERZL
73 if FRAEANIIAVIZTNEIR @ B Tab HSiZE B EGIEHF - £HI2
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RALE if ENERONENSRE -5 FTUE 2-3 ISR ¢
if pw=="1234" : print(" KL EE! ")

3.2.3 EmFIEIR (if---else)
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1EE P 25 555 1

IRV DED FFS - IREMOUE SEATIHREN - WREHZH ALY
BASIENE (1234) » [FEAT TEUIEE | L WRIHBZHANBIHER  8IY
B TR EEER | 4 o (<password2.py>)

I #2 .45 : chO3\password2._py

1 pw = input("F@MAEHH")
2 1T pw=="1234":

3 print(* R EER ! ")

4 else:

5 print(" a4k ")

#2CEREA

v 2-3 S8 A\BBISIENE - BLEITEE 3 IR B EUIENR

¥ 4-5 S ANBIEIESR - BEVITSE 5 R - BARIRIEsRANE o JE R
$ 4 5B BRFEEE Telse:

SIE (TR 2

HE NSRS R — BT BEMASLOME  SRLREA
RER 60 5 - BB T H - BRI, - SRR THETRRE  IUBIE!, o

(<score.py>)
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FRETHET - BINBRSTESEMBNBRET » JhiMiERDBRENGER -
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wEs : prnes ()
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3
R owis 00@9

EOREHFERP  MANAMBARTRED - BEIBELTVIRAIR ¢

1. H—J%?J%EIE% i BVEBVTTREDBIREE i+1 BIBIITELLER - WREA - 8l
AR} F—Ri0EEBH 0 EI n-1 (ABEE n-1'BlnB0~2)°
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wEs : prnes ()

\
? SEMIEIE - BHUNEIKHER (BiKHEFF )

B2 ZIRBARIF 2ERERCBE - BREBFIEFR~EY - F LS
datas=[3,5,2,1] 3B/ N\EIKBEZ © (<bubble.py>)

54

I #2 X, #5: ch08\bubble.py ‘

1 def disp _data(Q): # #A=$H7eATILF

2 for item iIn datas:

3 print(item,end=" "")

4 print(Q)

5

6 # AKX

7 datas=[3,5,2,1]

8  print("#EFar:",end=" ")

9 disp _dataQ) # #ETHFATET

10 n=len(datas)-1 # #7|k/i-1

11

12 for 1 1n range(O,n):

13 for j 1n range(O,n-1):

14 if (datas[j]>datas[j+1]: # W3 K#EAr
15 datag[j],datas[j+I]=datas[j+1],datas[j] # ¥k 2k
16

17  print(" #p% ", end=" ")

18 disp _dataQ) # #ATHFTEBT]
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[ — . R TR

1. {RiRE S A RBIRETNES ¢
list_1 = [1, 2, 3]
[4, 5, 6]

list_2

list_3 = list_1 + list_2
list_4 = list_3 * 2

print(list _4)

HiTREIVENEEER ?

COA. I, 2, 31, [4, 5, 6], [1, 2, 3], [4. 5, 611
( )B. [4, 10, 18]

(). 1, 2, 3,4, 5,6, 1, 2, 3, 4, 5, 6]

()D. [IL, 2, 3, 4, 5, 61, [1, 2, 3, 4, 5, 6]]

1REEED App BUFRIVERETEN o IR ARIF—EXINABREHAEL R

IR 2 Eﬁﬁfbﬁﬁﬁﬁﬁﬂ} iR - WLHBRIVAB IS - 290
mﬁiiffﬁﬁ% THEOBTRPEEBENENBHE - HPBREBRRISFR
g ;3%9‘89%7\%%5%@%}3&2%%%& o

# FRIHAES

distance = (@D (input("Enter the distance traveled in meters'))

distance _ kms = distance / 1000 # convert to kilometers
time_minute = (2) (input("Enter the time elapsed in minutes™))
time _sec = 3 (input(Enter the time elapsed in seconds'))
time = time _ minute*60 + time _ sec

pace = time / distance _ kms

print("The average velocity is" ,str((pace//60))+ ": str((pace%60)))

M EZERARBEANNRNBA ¢

()@ A. int B. string C. float
()@ A. int B. string C. float
()@ A. int B. string C. float

o —
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REEMRE — @5 8FABLREFHNRE - ZRNBEMRBOFEA
BRIFD , RBRWDIERBOEEFD  IRIREL N2 - EPBRE6V1T
-5})%/ \RE E&%%}% °©

01 age = input(Enter your age: ')

02 year input(Enter the four digit year: ")
03 born = eval(year) - eval(age)
04 message = "You were born in " + str(born)

05 print(message)

BE NI EZERER?
( )A. £ O0147F year sha#t#A & str?
( )B. #£0347¥ born ey & #t#A 2 float?
( )C. 7% 0447+ message w&##% % bool?

7. f£ Python ERBRANREPRIZU T =@RRUBHEL -

# Code segment 1

# Code segment 2

x2 = 10
y2 = 4
b =x27y2

# Code segment 3

x3 = 5.5
y3 =1
c =x3 /7 y3

REZEERIVUERE - FRTIDESEEN? (FXE)
(DA, JUTRABAELE , %% a wEHANL stre

( )B. #UTREKBHEL 2%, %% b ey EHmALT Floate

()C. BITEXBAKLIE, ¥H c WEHAASL Inte

< R
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